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This paper is of two hundred (200) marks containing four (4) sections.
Candidates are required to attempt the questions contained in these sections
according to the detailed instructions given therein.
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SECTION -1
Qgus—I

Note : Answer the five questions from the para given below. Each answer
should not exceed 30 words. Each question carries five marks.
(5x5=25 marks)
e 2 @ T YT F R W A T uiE e % SR ford | vl R (30)

ST qh BT T1eT | Tk U9 Ui 3R] &1 7
(5x5=25 3{eh)

“Economists have often noted the oligopolist’s reluctance to employ price cutting as a
competitive weapon. But this cannot be explained entirely as a manifestation of a desire to
live the quite life, for even when competitive activity does become more vigorous, it is notorious
that this is very likely to take the form of more advertising expenditure or the introduction of
new products features, some of which are sometimes considered to be little more than frills.
It would appear then that the large firm’s competitive effort has been channeled away from
price policy and into advertising, service and product characteristic modification”.

- (Baumol)

HIdl § FHerdl H gfaeasias AR % 9 H TR % ufa stewfustel &1 sifrest #
srefenferal 3 sigen e fhan ® 1 Aferd haw ua wifawa stae foam 1 s=e1 6t stfyeafsa & s d &
TR YUIETTT SASAT &1 1 S Thdll, SAlfR wa Ffaeaeicnss fafafy sifye gad & S @ I8
F9A[ ¢ fF ag fammma w A el & 93 U iR dwn | Iuvisarei &1 ufifua
FH - TS99 9 TS TN 1 FSEe A1 dSh- Sk | A4 el A ST Hohdl - W I 1 &Y o ol
T | THY U wdid B R I CwaEt % wfaeguiere yar Sma-ifd @ R g2 T ¥ e famm, dan
TS IS o ARTALTONHSE HINeA i IR Afersh 3@ gL |

- g

1.  Why oligopoly firms avoid price competition ?
FreaTfeerl wH ' wiua-wfaed | < et €2
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2. Is non-price competition relevant under perfect competition ?

ot gfqeast ® s TR-shiva gfaest wTe § 2

3. Which model of oligopoly has been given by Baumol ?

A 1 STIeRT 1 hIF |1 Hied fean g2
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4.  What kind of competition assumes significance in an oligopolistic market ?

Qe SR ¥ fohd g faeast Hesergul 21 St 2

5.  Are oligopolistic markets more stable than traditional markets ?

T SR TSR IR dTS & Afeeh Grer € ?
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SECTION - II
gues—II
Note : The part has fifteen (15) definitional questions of (5) marks each to be

answered in upto (30) words.
(5x15=75 marks)

e T @< Ygg g (15) 9§ | I U39 & Uid (5) 3k ¢ 1 Todeh &l
IR (30) Ie=1 H ST

(5x15=75 3T%h)

6.  Define cross elasticity of demand.

A o Yfders w1 qivre < |
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7.  Define demand for money as explained by Keynes.

F9 g AT g1 o T A a6t afkemn T

8. What is an accelerator ?

Tfqerde <91 § ?
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9.  Define vicious circle of poverty.

T % gYEh i TR < |

10. Define Marxian concept of ‘Surplus Value”.

HAfafted Hod 1 AHaTE! SR i JRHT < |
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11. What is meant by Fiscal deficit ?
forefrer =er =1 s1ef = 2

12. Identify the major sources of revenue of State Governments in India.

IR o T3 TR o T % THE &id =g |
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13. What is high powered money ?
Yo &1 51§ ?

14. Distinguish between tariff and non-tariff barriers.

Iw qe TH-NF AR o ST Fd HL
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15. What are the components of broad money ?

M9 HeT o Goesh <A1 § 2

16. State the main functions of NABARD.
A€ % {5 HT41 1 AU L
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17. What is meant by industrial sickness ?

AT ST <1 1ef 5o 2

18. What are the functions of SEBI ?
SEBI & & <1 & ?

D—0106
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19. Distinguish between concepts of absolute and relative poverty.

T SRt FAROET qe TTdeT STFURuNST & Sig SAdl i |

20. Define Rank - Correlation.
GfSTeIcY T8 Fee-Y ohi IRET < |
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SECTION - III
Qug—III

Note : The part has five short-essay type questions of (12) marks each to be

21.

22.

23.

24.

answered in upto (200) words. The candidate may select one elective

and answer all five (5) questions.
(12x5=60 marks)

3@ We H i (5) oY Famemes 999 €1 T T3 & (12) 3fF &1 T
T T ISR I <1 Y IR A g qdenedf et we weifees ® 9@ g
I3 H SR T |
(12x5=60 31eh)

Elective - I

faerea—I

Explain the problem of Multicollinearity in a multiple regression model. Discuss the
two methods of detecting the existence of multicollinearity.

TG YT Aied § dgHaUdl i HHE i A h| Igdaedl &l 3qfefd & qgam
% <1 3UM T == R

Explain the assumptions and properties of “Ordinary Least Square”. State the

significance of R? in this regard.

e e AR it ATareTl AR Ul ol A L TH Fe H % HE @l
e B

What are Dummy Variables ? Explain the uses of dummy variables to capture a change
in intercept or “slope coefficient” in a regression model.

TH TR AT ? T YA HISa H Fe< 31d1 gald T[0Tk | qRad &l qehed § ol =1
% STANT i AT Y |

Explain a Distributed Lag Model. Discuss the Koyck Lag Model. State the various
assumptions on which it is based. Indicate its limitations for predictions.

FEHIg e v HISA i SATSAT i | HIFh o AIed & ==l i | I8 T STAERomsti W eenia
? ST Seoi@ e qun ufasaeyd | g9 WA e qn |

D—0106 14



25.

21.

22.

23.

24.

25.

“Vector autoregressive-moving average processes form useful tools to describe dynamic
relationships between Economic Variables”. Elaborate the statement through an
illustrative example of your choice.

" orrfefer = o HEA AT STAHE ] Sl 9 | ek At FAfad qfat Tens yfhare suan
FH 8. U gHS & ISR g 39 HYA Tl fIar 9 THAT |

OR / YT

Elective - 11
famea—I1

Use Samuelson’s Revealed Preference Theory to prove the basic proposition of the Law
of Demand.

Y31 & FR ST T4 FaGT= 1 STt &k T o T % it g&are 1 gaifora
£y

Explain Sweezy model of oligopoly. Does it provide satisfactory solution to the problem
of price determination ?

TR & TS AISH i AT i | 1 98 hiAd [UR0 ST TS ST Garssies GHIEM
T HT ] ?

Describe the main features of the neo-classical growth model (Solow-Swan) and
comment on the nature and extent of Solow’s Residuals.

79 IS gy diea (Hiadl W) o IH AT bl A0 HE T Hiall STaREl 1 ghid @
foeaR % wR feuqoft

Explain the determination of rate of interest and output in the IS and LM framework.
What factors induce shifts in LM curve ?

TE-TH A1 U TH & &1 H SIS <X 91 ScuTe o 74Rur &1 =411 %Y | e SR Td T
Tk 1 LA i & ?

State and Explain the Duality Theorem.
BYT T F TR H FaTd TR SHRT ST B

OR / AYar
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21.

22.

23.

24.

25.

Elective - III

farea—II1

Explain the impact of WTO on the exports potential of textiles after the phasing out of
MFA.

TH TE T i e G0 B o 9vaq I oht i §9me st 3. 3. o g9 St A
F|

What are the major features of current waves of globalisation ? Discuss its impact on
international debt burden.

TSR T TARH U F TG AT ST € 2 SR T ot qR TR 3HEk FUTE h1 T4 Hhi |

Explain the reasons for the collapse of the Bretton Woods System.

fore 928 gumTel! o 9d & HRON i AT DY |

Explain the concepts of “Arbitrage” and “Market Hedging”. Discuss the role of
Arbitrage in a foreign exchange market.

ST qe SR ST i STareron =it =rean | faeeft fafrwa s § sfadue =t fiem
EICEIEDY

Differentiate between GATT and WTO. What are TRIPS and TRIMS under WTO
agreements ?

e o T 3311, o ST ST | Tl 3.3 WHEiG! o oTwiq fed’ @R fosw ' s R ?

OR / AY«aT
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21.

22.

23.

24.

25.

Elective - IV
fawma—Iv

Comment on productivity trend of non-food crops in India since the decade of 1980s
and bring out its implications for rural income generation.

IR H 1980 < T § WIITR HHA| ! Scdrgehdl i ggfsradl o feoquft s qem Tt 1 6
I HE i e 7 st foaansti &1 eo@ Al

Identify the major drawbacks in the recent public distribution system in India.

IRA § Id9M Frewiie foaor yonelt & @ i wt uge |

What are the major sources of Institutional finance for Indian agriculture ?

R % % forw w@ wenTd fos &ia ®H | 82

Explain the trends in migration of labour from rural to urban areas. How can this
trend be arrested in India ?

TTHroT &3 | YR & B HTR % YoST i YgiaTal i At # | 36 YT i IR § HE I
ST Hehell § 2

Assess the economic and social impact of uneven progress achieved in Land
redistribution in India.

IR H Y o QA § Y STHAM Y o i AR qHSS JHE 1 Jedih &1 |

OR / YT
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21.

22.

23.

24.

25.

Elective - V

fasmea—v

What is Fiscal Consolidation ? Explain the recent steps which have been taken by the
Government of India in this direction.

TSTfersig FHeR 541 § 2 39 foun & adum YRG TR g1 SO 7Y SheH| ohi o=l i |

Critically examine the impact of WTO on the Indian agriculture with special reference
to ‘market access’.

TSR Tg= & favm e # Rdia FfF W eoe, .30, & T |1 GUEAEE T Y|

Discuss the role of state in relation to economic growth since 1991.

T 1991 © T N gfg o Ha9 | TF &l yfHew1 1 == il

Examine the interrelationship between economic development and environmental

quality.

3TifeieR foaehTe qen TfeRvia T[uresT & o9 Sial GaEl 1 qder & |

What are the major issues in the debate on the “incidence of poverty” in the post-
reform period in India ?

ITR-GUR 1A H WR & T 3 3790 W 989 & TIE qe 591§ ?

D—0106 18
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SECTION - IV

gus—IV
Note : This part has one question of (40) marks to be answered in upto 1000
words.
(40x1=40 marks)
e T ES U THh 93 I (40) 3R o1 81 9 SSR A9 T BoiR
(1000) wre=i # ST |

(40x1=40 3Th)

26. Critically examine the welfare criterion propounded by Hicks and Kaldor.

68 Td HITSR §R UIqUTIGd HedTvl i HUTl 1 THTATEHTHE TIETT HhL |

OR / AYar

Discuss how in recent times technological changes have affected the pattern of resource
use and productivity in Indian agriculture.

IR Ffe H FEreri & ITFF q91 SACHAT & FAHH w1 GefeRE aieda 1 g § 51
gt foran € 2 ==t &L

OR / AYar

What is “Federalism” ? Make out a case for coordination between Planning Commission
and Finance Commission in the matter of devolution of finances from Centre to the
States.

‘Heere ! SR ? g O TAl ol TaSI-Trar el & SN0 o HIHe § AT SAEN a1 fasT ST o
9 =T 30 T 9 TR H
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